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The parameter o in Eq.(3) is related to the root-mean-
square matter radius rq = 1.96 fm of deuteron [62] by o =

\/8/3rq = 3.2fm. For the kinetic freeze-out temperature

Tk of nucleons, it is typically of the order of 100 MeV. pora

We therefore have mTk > 1/0?, and the yield ratio d/p B ' ' I l
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The factor C; = ot Beyerz 1 Eq. (6) corresponds to : 35 o - — COAL s
the d/p ratio in the limit of large nucleon emission source — ’ —
when the suppression effect due to finite deuteron size is 1 B 7
negligible, and it is directly related to the entropy per ! = I + | =
nucleon in a nuclear collision, which remains essentially : 10° — ]
unchanged after chemical freeze-out [63]. Therefore, the = =
value of (] is expected to be similar in p+p, p+Pb and 1 ) - -
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the proton number in collisions at the LHC energies be- - | | ]

cause of the vanishing isospin chemical potential, and the 1 0 - 100 ' 1000

kinetic freeze-out temperature Tk extracted from mea- Charged-particle Multiplicity dN /dn
sured charged particle spectra. ch

Why do we have large d/p in Isobar central collision?
K.-J. Sun et al. / Physics Letters B 792 (2019) 132-137 Kaijia’s calculation for LHC suitable for Isobar or not?



